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. 2 -2
cosh > x —sinh 2 x =1 - cos” x+sin” x=1
.2 2 .24 2
sinh “x =cosh “x—1 sin“x=1-cos” x

21 a2
cosh 2x =1+sinh % x cos”x =1-sin"x

2 2
2 2 sec“ x=1+tan” x
sec h“x =1-tanh “ x

2 2
cscx=1+cot" x
csc h?x = coth > x =1

sinh2x = 2sinh x cosh x sin2x = 2sinx COSXx

2 ) 2 .2
cosh 2x = cosh” x +sinh” x COS2x =cCos” x—sin” x

—=2cosh?x —1 = 2cos’ x—1

= 2sinh? x +1 —1-2sin’x

2 tanh x 2tan x

tanh2x = tan2x =

1+ tanh? x 1—tan® x

sinh 3x = 3sinh x + 4sinh’ x sin3x = 3sin x —4sin’ x

cosh 3x = 4cosh® x —3cosh x cos3x = 4cos> x —3cos x

3tanh x + tanh® x 3tan x —tan’ x

tanh3x = > 5
1+3tanh” x 1-3tan” x

tan 3x =

1+ cosh2x = 2cosh? x 1+ cos2x =2cos’ x

sinh— x = —sinh x

tanh— x = —tanh x

sin—x =—sin x
tan—x =—tanx

cosh— x =cosh x COS— X =COS X

.21 .2
sinh” x = (cosh2x —1) sin” x = (1-cos2x)
cosh2x —1=2sinh? x 1—cos2x =2sin’ x
2 .1 2 .1
cosh” x = (cosh2x +1) cos” x = (1+cos2x)
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sinh(x + y) =sinh x cosh y + cosh xsinh y
sinh(x — y) =sinhx cosh y — cosh xsinh y
cosh(x + y) = cosh x cosh y + sinh xsinh y

cosh(x — y) = cosh x cosh y —sinh x sinh y

tanh(x + ) = tanh x + tanh y
1+ tanh x tanh y
tanh(x — y) = tanh x —tanh y

1 —tanh x tanh y

sin(x + y) =sinxcos y + cos xsin y

sin(x — y) =sin xcos y —cos xsin y

cos(x + y) =cosxcos y —sinxsin y

cos(x — y) =cosxcos y +sinxsin y

tanx +tan y

tan(x + y) =
(x+7) I-tanxtan y

tanx —tan y

tan(x — y) =
(r=7) I+ tanxtan y

sinhx +sinhy =2 s1nh

sinhx —sinh y =2 cosh s1nh

cosh x + cosh y = 2cosh > > Y cosh ;

sinh x cosh y = %[sinh( X+ y)+sinh( x - y)]

cosh xsinh y = 1 [sinh(x + y) — sinh( x — y)]

cosh xcosh y =1 [cosh( X+ y)+cosh(x— y)]

. . _ < X+Yy x—y
SInx +sin y = 28in-=—=Ccos —-

. o _ X+y . x-y
Sinx —sin y = 2€0s—=sin—-
+ —_
cosx+cosy=2cosucosx2y
X—

COSX —COS ) =

sin xcos y =
cos xsin y =

COS X COS y =

%[sin(x + y) +sin(x — y)]
%[sin(x + y) —sin(x — y)]
i[cos(x + y) +cos(x — y)]

sinh xsinh y = ——[cosh( x + y) —cosh(x — y)] sin xsin y = —f[cos(x +y) _cos(x — )]
cosh x + sinh x = " sin 2x — 2tan x
2
coshx —sinhx=¢* I+tan 2x
_ 1—tan” x
COth=%(€x+€ x) cos2x=—2
1+tan” x
_ P
sinh x = (e € ) secx=—— &cscx=_— &cotx =
Ccos tanx
sinh™ x=csch™ % sin”! x = cs¢™! %
cosh™ x =sech™ % cos | x =sec”! %
-1 _ _ _
tanh ™! x = coth™' 2 tanlxzcotli
csch_lxzsinh_lé &.... sec_lxzcos_li &....




